DGR ERA (CIVIOHNND 6:0.0:0:0:0.0:0.0:0:0:0.0:0.0:0.0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0:0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0.0:0.0.0:0:0:0.0.0.0:0.0:0.0:0.0:0.0.0.0:0.0:0.6:0.0:0.6:0.0:0.0:0.¢:0:0:0:0.0:0 ¢ " (FA R X F LV TSN T Lo [ J ol D704
PiecewiseFunction Answers for No.9844

x| -101] -9 -8 -7 -6 -5 -4 1] -3 -2 -1] 0 | 1] 2 31 4 ] 5 6 | 7 8 | 9 1 10
AnsO1l : f(x)| -5 1| -4 | -3 1| =21 -1/ 0 | 1] 2 | 3 | 4 | 5 | 6 | 71 NA| -4 | -6 -8 ] -10 | -12 | -14 | -16
Ans02 : f(x)| -23 | -21 | -19 | -17 | -15 | =13 | =11 | ©NA | 1] 1] 1] 1] 01 -1 2! -3 -4 -5 -61 =71 -8
Ans03

x+2 ; x<=2
f(x):[Zx—S ;x> 2}
f(2)=4, ,f(-1)=3, ,f(0)=2, ,f(2)=0, ,f(3)=3

Ans04
2x+1 x< -2
f(x)=| x-1 , -2<=x<1
0 R x> 1
f(-4)=9, ,f(-3)=7, ,f(-2)=-3, ,f(-1)=-2, ,f(1)=NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -6 | 2 | 2 | 2 | 2 | Continuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
9 | 4 | 1| 1 1 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
12| 31 3| 3 3 | Continuous

DG RF-Te (SR NIV (N B ID:0:9:9:9:9:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0:9:0.9:0.:9:0.9:0.9.0.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:0:0:0:0.:9:0.9.0.9:0.9.9.9.9.0.9.0.9.0:¢




R UERANCIYIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.:0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0.0.0.0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:9.6:0.0:0. ¢ [YAEI I T ST NI Jo 1012 0:¢
PiecewiseFunction Answers for No.9872

x| -101] -9 -8 -7 -61] -5 -4 -3| -2 -1 O 1| 21 31 411 51| 61 71 81 9] 10|
Ans01 : f(x)| 14 | 13 | 12 | 11 | 10 | 9 | 8 | 7 6 | 5 | 4 | 6 | 8 | 10| 12| 14 | 16 | 18 | 20 | 22 | 24
Ans02 : f(x)| 7/ 7 7 7 71 7191 7 71 771 59| 3| 1| 41 5| 6| 71 81 9] 10| 11 | 12 |
Ans03
x—2 ;ox< 1
f(x):[ }
2x+1 ; x> 1
f(-3):'5> ’f(O):-25 ’f(l):NA’ ’f(3):-5> >f(4):-7
Ans04
2x-2 x< -2
flx)=| -6 ; 2<=x<3
3 -x x>=3
f(-2)=-6, ,f(-1)=-6, ,f(0)=-6, ,f(2)=-6, ,f(3)=-6
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1] 2 | 2 | 2 | Discontinuous |
-6 | 2| 2 | 2 2 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
3 5 | 3 3 3 | Discontinuous |
11 | 1] 1] 1] 1 | Continuous

DG BF-Te (SRE NIV O)2) ID:9:9:9:9:9:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0.9:0.0:0.9:0.9:0.9.0.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9:0.0:0.9.9.9.9.0.9.0.9.0:¢



QR UERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.:0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0:0.0:0.0:0.0:0.0.0.0:0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:9.6:0.0:0. ¢V [YAEI T TS NI Jo 10 )c 0:¢
PiecewiseFunction Answers for No.9873

x| -101] -9 -8 -7 -61] -5 -4 -3| -2 -1 O 1| 21 31 411 51| 61 71 81 9] 10|
Ans01 : f(x)| -21 | -19 | -17 | =15 | -13 | =11 | -9 (| -7 | -5 -3 | -4 | -5 -6 =71 =81 =9 | -10 | =11 | =12 | =13 | -14 |
Ans02 : f(x)| 7 6 | 5 | 4 | 3 2 | 11 0 | -1 | 2 | 4 | 6 | 8 | 10 | 10 | 10 | 10 | 10 | 10 | 10 | 10
Ans03
1-x ; x<=1
f(x):[ }
2x+1 ; x> 1
f(-3):4’ ’f('l):25 ’f(l)zos ’f(2)25> ’f(4):9
Ans04
2x-1 x<=-]
flx)= 4 ;-1 <x<=1
x+3 R x> 1
f(-3):5’ ’f('l):15 ’f(l):49 ’f(3):6> ’f(4):7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1] 2 | 2 | 2 | Discontinuous |
-4 | 2 2 | 2 | 2 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
5 | 2| 2 2 2 | Continuous
8 | 4 | 4 | 2 | DNE | Discontinuous |

DG RF=Te (SHE NIV IID:9:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0:9:0:9:0.:9:0.9:0.9.0.9.9.9.9.0.0.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9.0.9.0.9.9.9.9.0.9.0.9.0:¢



R UERANCIVIVENED 9:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0:0:0.0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0:0.0.0.0:0.0:0.0:0.0:0.0.0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:0.6:0.0:0. ¢ [YAEL I ST NI Jo LoD 0:¢
PiecewiseFunction Answers for No.9884

x| -101| -9 -8 -7 -6 =51 =41 =31 =21 -1/ 0 | 1 2 3 4 | 5 6 | 7] 8 | 9 | 10
AnsOl : f£(x)| 22 | 20 | 18 | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 | 01 -2 5 | 6 | 7 8 | S | 10 | 11 | 12
Ans02 : f(x)| -5 -5 -5 -5 -5 -5 -5 -5 -5 =3 | -1/ 1] 2 | 1] ol -1 -2 -3 1| -41] -51] -6
Ans03
2x+1 ; x<=1
f(x):[ }
2-x ; x>1
f('4):'7> 7f('3):'5a af('2)2'3’ ’f(l):3a ’f(3):'5
Ans04
2x-3 x< -3
flx)= 3 ; 3<=x<3
x=1 x> 3
f(-3)=3, ,f(-2)=3, ,f(1)=3, ,f(2)=3, ,f(3)=N4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -6 | 2 | 2 | 2 | 2 | Continuous
5 | 2| 2 2 2 | Continuous
9 | 4 | 1| 1 1 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
12 | 3 3 3 3 | Continuous

DG RF-Te (SR NIV IF/ Y ID'0:9:9:9:9:9:0.9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0.9:0.0:0:9:0.9.0.9.9.9.9.9.0.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9:0.9:0.9.9.9.9.0.9.0.9.0:¢



R RUERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.:0:0:0:0:0:0.:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:9.6:0.0:0. ¢/ [ YARI I ST NI Jo 105D 0:¢
PiecewiseFunction Answers for No.9885

x| -101] -9 -8 -7 -61] -5 -4 -3| -2 -1 O 1| 21 31 411 51| 61 71 81 9] 10|
AnsO1l : f(x)| -22 | -20 | -18 | -16 | -14 | =12 | =10 | -8 | -6 | -4 | =2 | 0 | 2 41 -9 -10 | -11 | -12 | -13 | -14 | -15
Ans02 : f(x)| 4 | 4 | 4 | 4 | 4 | 4 | 4 | 4 | 3 2 | 1 | NA | 9 | 11 | 13 | 15 | 17 | 19 | 21 | 23 | 25
Ans03
x+3  ; x<=-2
f(x):[ }
2x+1 ; x> -2
f(-2)=1, ,f(-1)=3, ,f(l)=-1, ,f(2)=-3, ,f(3)=-5
Ans04
-2 K x < -1
f(x)=| x-1 ; -I1<=x<3
2x+3 x> 3
f(-3)=-2, ,f(-1)=-2, ,f(2)=1, ,f(3)=N4, ,f(4)=-5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-2 | 0 | 2 | 2 | 2 | Discontinuous |
2 | 4 | 2 | 4 | DNE | Discontinuous |
5 | 2| 2 | 2 2 | Continuous
8 | 4 | 4 | 2 | DNE | Discontinuous |

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKKXXXXKXXXXKXKXKXKXKXKXKXKXKX KX KK KK KK KKXKXKXKXKXKKKKXKK KKK KKK KK KK KK KK KK KK KKK KK KK KK KK KK KK KKK KKK KK KK KK KKK



R QRUERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.0:0:0:0:0:0.:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0.0.0.0.0:0.0:0.6:0.0:0.0:0.0:0.:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:9.6:0.0:0. ¢ [ YAEI I T ST NI Jo L0 5) 0:¢
PiecewiseFunction Answers for No.9895

x| -0 -9 -8 -7 -61] -51] -4 -3 -2 -1 o 1 21 31 41 51 61 71 8] 9 | 10 |
Ans01 : f(x)| -18 | -16¢ | -14 | =12 | =10 | -8 -6 | -1 | -2 | -3| -4| -5 -6 =71 -8 -9 | -10 | -11 | -12 | -13 | -14 |
Ans02 : f(x)| -18 | -16 | =14 | -12 | =10 | -8 | -6 | =7 | =7 | =7 | =7 | =7 | =7 | =7 | -8 | 9 | =10 | -11 | =12 | -13 | -14
Ans03
2x-2 ; x<=-2
f(x):[ }
l-x ; x> -2
f(-2)=-6, ,f(0)=1, ,f(1)=0, ,f(2)=-1, ,f(4)=-3
Ans04
1-x x< -2
flx)=|2x+1 ; -2 <x<2
5 ; x>=2
f(-4)=5, ,f(-2)=N4, ,f(0)=1, ,f(2)=5 ,f(3)=5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3| 3| 3| 3 | Continuous
-7 | 2 2 | 2 | 2 | Continuous
-5 | undefined | 1] 1] 1 | Discontinuous |
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
11 | 1] 1] 1] 1 | Continuous

DG R=F-Te (SR NI VUL Y HD:9:9:9:9:9:9:0:9:0:9:0:9:0:9:0:9:0:9:0:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0.9:0.9:0:9:0.9.0.9.0.9.9.9.9.0.9.0.9.0.9.0.9:0.9.0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9:0.0.0.9.9.9.9.0.9.0.9.0.¢



QR UERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.6:0.:0:0.:0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0.0.0.0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:9.6:0.0:0. (| [YAEI I SST N Jo L0 b 0:¢
PiecewiseFunction Answers for No.9899

x| -101] -9 | -8 -7 -6 =51 -4 | =3 =21 -1 0 | 11 2 | 3 4 | 5 | 6 | 7 8 | 9 | 10
Ans01 f(x)| -25 | -23 | =212 | -19 | -17 | -15 | -13 | -1 | -9 -7 5| -3 | NA| -1 | -2 -3 | -4 -5 -6 =71 =81
Ans02 f(x)| -23 | =21 | =19 | -17 | =15 | =13 | =11 | -9 | -7 | NA | -4 | -4 | -4 | NA | -5 | -6 | 7 8 | 9 | =10 | -11
Ans03
x+1 ;o ox<=-2
f(x):[ }
2x+2 ; x> -2
f(-4)=-3, ,f(-2)=-1, ,f(1)=0, ,f(2)=-2, ,f(4)=-6
Ans04
2x-3 x< -1
flx)=| x+1 ; -1 <x<2
3 K x>=2
f(-1)=N4, ,f0)=1, ,f(1)=2, ,f(2)=3, ,f(4)=3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1] 2 | 2 | 2 | Discontinuous |
-5 | undefined | 1] 1] 1 | Discontinuous |
5 | 2| 2 | 2| 2 | Continuous
7T 5 | 3 3 3 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

DG RF-Te (SRE NIV OV ID:9:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0:9:0.9:0.:9:0.9.0.9.0.9.9.9.9.0.0.0.9.0.9.0.9:0.9:0.:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9.0.9:0.9.9.9:9.0.9.0.9.0:¢



R ERUERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0:0:0.:0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:9.6:0.0:0. ¢ [YAEI T T ST NI Jo 10} D 0:¢
PiecewiseFunction Answers for No.9920

x| -101] -9 | -8 -7 -6 =51 -4 | =3 =21 -1 0 | 11 2 | 3 4 | 5 | 6 | 7 8 | 9 | 10
Ans01 : f(x)| 15 | 14 | 13 | 12 | 11 | 10 | 9 | 8 | 7 6 | 51 -1 1] 3 5 | 7 9 | 11 | 13 | 15 | 17
Ans02 f(x)| 17 | 15 | 13 | 11 | 9 | 71 5 | 3 1] -1 | -1 | 0 | 11 2 | 2 | 2 2 | 2 | 2 2 2
Ans03
2x-1 ; x<1
f(x):[ }
—x+2 ; x> 1
f(-2)=-5, ,f(-1)=-3, ,f(0)=-1, ,f(1)=N4, ,f(3)=-1
Ans04
-3 -x x< -1
fix)=|2x-3 ,; -1<=x<3
3 ; x> 3
f-4)=1, ,f(-3)=0, ,f(-1)=-5, ,f(2)=1, ,f(3)=N4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1] 2 | 2 | 2 | Discontinuous |
-11 | -2 | 11 1 1 | Discontinuous |
-2 | 0 | 2 | 2 | 2 | Discontinuous |
3 5 | 3 3 3 | Discontinuous |
11 | 1] 1] 1] 1 | Continuous

DG RF-Te (SR NIV HD:9:9:9:9:9:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0.9:0.9:0:9:0.9.0.9.9.9.9.9.0.0.0.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.:9:0.0.0.9.9.9.9.0.9.0.9.0:¢



R UERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.:0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:0.6:0.0:0. ¢ [YAREI I ST NI Jo L0 J=D 0:¢
PiecewiseFunction Answers for No.10000

x| -10]| -9 -8 -7 -6 -5 -4 -3 -2 =21 o} 11 21 31 41 51 661 71 81 9] 10|
AnsOl : f(x)| -18 | -16 | -14 | -12 | =10 | -8 | -6 | -4 | -2 | 0 | 2| 4 | 6 | 8| -8 -9 -10 | -11 | =12 | -13 | -14 |
Ans02 : f(x)| 22| 20| 18 | 16 | 14 | 12| 10| 7 7 71 71 71 NA| 81| 99 10| 11| 12 | 13 | 14 | 15 |
Ans03

-1-x ; x< -2
f(x):[2x+3 ; x>—2}
f(-2)=N4, ,f(0)=3, ,f(1)=5 ,f(2)=7, ,f(3)=9

Ans04
-8 ; x< -3
flx)=|2x-2 ; -3<=x<1
2-x x> 1
f(-3):'8> ’f(O):-25 ’f(l):NA’ ’f(2)2-4> >f(4):-6
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -5 | undefined | 1] 1] 1 | Discontinuous
-4 | 2 2 | 2 2 | Continuous
1 4 | 1| 1 1 | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
11 1] 1 1| 1 | Continuous

X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXKXXXXKXKXKXKXKXKXKXKX KX KX KK KK KKXKKKXKXKXKK KKK KKK KKK KK KK KK KK KKK KK KK KK KK KX KK KK KK KKK KK KK KK KK KK KKK
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PiecewiseFunction Answers for No.10017

x| -101] -9 -8 -7 -6] -5 -4 -3 -2 -1 O 1| 21 31 41 51 61 71 81 9 | 10 |
Ans01 : f(x)| 9 | 8 | 7 6 | 5 | 4 | 3| =71 =51 =31 -1/ 1] 3 | 5 | 7 9 | 11 | 13 | 15 | 17 | 19
Ans02 : f(x)| =7 | -6 | -5 | -4 | -3 | -2 | -1 | 0 | 2 | 2 | 2 | 2 | 0 | -2 | -4 | -6 | 8 | -10 | -12 | -14 | -16
Ans03
2x+3 ; x<=1
f(x):[ }
-3 —-x x> 1
f('4):'5’ ,f(-3):-3’ ’f('l):L ,f(l)ZS, >f(2):'5
Ans04
-2 K x < -1
flx)=| x-1 ; -1<=x<=3
2x-1 x> 3
f(-4)=-2, ,f(-3)=-2, ,f(-1)=-2, ,f(1)=0, ,f(3)=2
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -2 | 0 | 2 | 2 | 2 | Discontinuous |
1 4 | 1] 1 1 | Discontinuous |
2 | 4 | 2 | 4 | DNE | Discontinuous |
5 | 2| 2 | 2 2 | Continuous
11 | 1] 1] 1] 1 | Continuous

DG RF-Te (SRE N VI VANV ID:9:9:9:9:9:9:0:9:0:9:0:9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9.0.9.0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9:9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0:9:0.9:0.:9:0.9:0.9.0.9.9.9.0.0.9.0.9.0.9.0.9:0.9:0.:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9:0.0:0.9.9.9:9.0.9.0.:9.0.¢



DR UERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.0:0:0:0:0:0.:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:0.6:0.0:0. ¢V [YARI I ST I Joh I 0:¢
PiecewiseFunction Answers for No.10025

x| -101] -9 -8 -7 -6] -5 -4 -3 -2 -1 O 1| 21 31 41 51 61 71 81 9 | 10 |
Ans01 f(x)| =22 | =20 | =18 | =16 | =14 | =12 | =10 | NA | ol -1 -2 =31 -41 =51 =61 -7/ 8 | -9 | -10 | -11 | -12
Ans02 f(x) | 2 2 2 2 2 2 2 2 2 | NA | 4 | 6 | 8 | NA | 1] 0 | 1! -2 1] -3 1 -4 ] -5
Ans03
3—x ,; x<2
f(x):[ }
2x+3 ; x>=2
f(-3)=6, ,f(-2)=5, ,f(-)=4, ,f(2)=7, ,f(4)=11
Ans04
2x-3 x< -1
f(x) = -1 ; l<=x<1
x+3 R x> 1
f(-4)=5, ,f(-3)=3, ,f(-1)=-1, ,f(0)=-1, ,f(1)=N4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-4 | 2 2 | 2 | 2 | Continuous
1 4 | 1 1 1 | Discontinuous |
7T 5 | 3 3 3 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
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R UERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.6:0.:0:0.:0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0:0.0.0.0:0.0:0.0:0.0.0.0.0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:9.6:0.0:0. ¢ [YAEI I T ST NI JOh B2 0:¢
PiecewiseFunction Answers for No.10057

x| -10] -9 -8 -71 -61 -51 -4 =31 =21 -11 0 | 1 2 3 4 ] 5 | 6 | 7| 8 | 9 1 10
Ans01 f(x)| -9 1 -8 -7 -6 -5 -4 =31 -2 -1/ 0 | 1 2| 3| NA| -5 =71 =9 -11 | -13 | =15 | -17
Ans02 f(x)| -12 | -1 | =10 | -9 | -8| -7| -6| -5| NA| -3 | -5 -7 -9 | NA | -11 | -11 | =11 | =11 | =11 | =11 | -11 |
Ans03

—-1-x ; x<=1
f(x):[Zx—l sox> 1}
f(-3)=2, ,f(-1)=0, ,f(0)=-1, ,f(1)=-2, ,f3)=5

Ans04
x+1 K x<=-2
f(x)=|2x-1 ; -2 <x<=2
-5 K x> 2
f(-3)=-2, ,f(-2)=-1, ,f(1)=-3, ,f(2)=-5 ,f(3)=-5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3| 3| 3| 3 | Continuous
-8 | undefined | 2 2 2 | Discontinuous |
-4 | 2| 2 | 2| 2 | Continuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
5 | 2| 2 | 2| 2 | Continuous

DG RF-Te (SR VI VN 2N ID'9:9:9:9:0:9:0.9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9.0.9.0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0:9:0:9:0.9:0.9.0.9.0.9.9.9.0.0:9.9.9.0.9.0.9:0.9.0.:9:0.9:0.:9:0:9:0:9:0:0:0.9:0.9.0.9:0.9.9.9:9.0.9.0.9:0:¢



R RUERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.:0:0:0:0:0:0.:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0:0.0.0.0:0.0:0.0:0.0.0.0.0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:9.6:0.0:0. ¢ [YARI T T ST NI JON RCH 0:¢
PiecewiseFunction Answers for No.10061

x| -101] -9 -8 -7 -61] -5 -4 -3| -2 -1 O 1| 21 31 411 51| 61 71 81 9] 10|
AnsOl : f(x)| 22 | 20 | 18 | 16 | 14 | 12 | 10 | 8 | 6| -4 -3 -2 1 -1/ 01 1] 2 | 3 | 4 | 5 | 6 | 7
Ans02 : f(x)| 13 | 12 | 11 | 10 | 9 | 8 | 7 6 | 5] NA | -1 | NA | 11 3 5 | 7 9 | 11 | 13 | 15 | 17
Ans03
2x-3 ; x<=2
f(x):[ }
x—1 ;x> 2
f(-3)=3, ,f(-2)=1, ,f(2)=-7, ,f(3)=2, ,f(4)=3
Ans04
1-x x< -1
flx)={2x+1 ; -1<=x<2
5 ; x>=2
f(-2)=3, ,f(-1)=-1, ,f0)=1, ,f(2)=5, ,f(3)=5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3| 3| 3| 3 | Continuous
5 | 2| 2 | 2 2 | Continuous
9 | 4 | 1 1 1 | Discontinuous |
11 | 1] 1] 1 1 | Continuous
12 | 3 3 3 3 | Continuous

DG RF-Te (SR BN VJVNRCH IID:9:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0.9:0.9:0.9:0.9.0.9.0.9.9.9.0.0.9.9.9.0.9.0.9:0.9:0:9:0.9:0:9:0:9:0:9:0:0:0.9:0.9:0.9:0.9.9.9.9.0.9.0.9.0:¢



R ERUERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.:0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0.0.0:0.0:0.6:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:9.6:0.0:0. ¢V [YAEI T ST NI JON - 0:¢
PiecewiseFunction Answers for No.10071

x| -101] -9 | -8 -7 -6 =51 -4 | =3 =21 -1 0 | 11 2 | 3 4 | 5 | 6 | 7 8 | 9 | 10
Ans01 : f(x)| 14 | 13 | 12 | 11 | 10 | 9 | 8 | 7 6 | 5 | 4 | 31 2 | 11 12 | 14 | 16 | 18 | 20 | 22 | 24
Ans0O2 : f(x)| -17 | =15 | -13 | =12 | -9 | -7 | -5 -3| -3| -3| -3 -3 -3 -1 -2 | -3 -4 -5 =61 =71 -89
Ans03
2x-1 ; x<=1
f(x):[ }
x+2 ; x> 1
f(-3)=-7, ,f(-2)=-5, ,f()=1, ,f(2)=0, ,f(4)=-2
Ans04
3, x<=-3
f(x)=|2x-3 ; -3 <x<=1I
x+1 N x> 1
f(-3)=3, ,f(0)=-3, ,f(1)=-5 ,f(2)=3, ,f(3)=4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1] 2 | 2 | 2 | Discontinuous |
-9 | 3 3 3 3 | Continuous
=7 | 2| 2 | 2| 2 | Continuous
2 4 | 2 | 4 | DNE | Discontinuous |
3 5 | 3 3| 3 | Discontinuous |
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXKXXXXXKXKKXX XXX XXX XXX XK XXX XXX XXX KKK XX XXX KKK XK KKK KKK KKK XXX KKK XX KXKKKXM6/1-6800501-00015XX

PiecewiseFunction Answers for No.10088

x| =101 -9 | -8 | -7 -6 | -5 -4 -3 1 -2 -1 0 | 1] 2 3 | 4
Ans01 : f(x)| 24 | 22 | 20 | 18 16 | 14 | 12 10 | | 6 | 4 21 -1 01 1]
Ans02 : f(x)| 24 | 22 | 20 | 18 16 | 14 | 12 10 | | 6 | -4 | -4 | 31 -2 | -1 |
Ans03
x—2 ;ox< 1
f(x):[ }
2x-2 ; x> 1
f(-4)=-6, ,f(-3)=-5, ,f(-2)=-4, ,f(-1)=-3, ,f(1)=N4
Ans04
3—-x x<=-3
flx)=| 0 ;-3 <x<=1
2x-2 x> 1
f(-4)=7, ,f(-3)=6, ,f(1)=0, ,f(2)=2, ,f(3)=4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
3 5 | 3 3 3 | Discontinuous |
T 5 | 3 3| 3 | Discontinuous |
8 | 4 | 4 | 2 DNE | Discontinuous |
11 | 1] 1] 1] 1 | Continuous
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QR UERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.0:0.:0:0:0:0.0.0:0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0.0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:9.6:0.0:0. ¢ [YAEI T T ST NI JON ) 0:¢
PiecewiseFunction Answers for No.10385

x| -101] -9 -8 -7 -6] -5 -4 -3 -2 -1 O 1| 21 31 41 51 61 71 8/ 9 | 10 |
Ans01 : f(x)| 5 | 4 | 3 2 | 1] ol -1 -2 1 -3 -4 -5 -61 -71] 3 5 | 7 9 | 11| 13 | 15 | 17
Ans02 f(x)| -17 | =15 | =13 | -11 | -9 | =7 | -5 | -3 | -1 | 2 | 2 | 2 2 | NA | 1] 0 | -1 | -2 | -3 | -4 | -5
Ans03
2x-2 ; x<-2
f(x):[ }
SB+x ; x>=-2
f(-4)=6, ,f(-2)=-5, ,f(-1)=-4, ,f(0)=-3, ,f(3)=0
Ans04
x—2 R x< -1
flx)=|2x+1 ; -1<=x<=2
-3 R x> 2
f(-4)=-6, ,f(-2)=-4, ,f(-1)=3, ,f(1)=-1, ,f(2)=-3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-5 | undefined | 1] 1] 1 | Discontinuous |
T 5 | 3| 3| 3 | Discontinuous |
11 | 1] 1] 1 1 | Continuous
12 | 3 3 3 3 | Continuous

DG RF-Te (SR N V[ VAN CY ID:9:9:9:9:9:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0:9:0.:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0.9:0.9:0.9:0.9:0.9.0.9.9.9.9.0.0.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9:0.0.0.9.9.9:9.0.9.0.9.0:¢



R ERUERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.:0.:0:0.:0:0:0:0:0:0.:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0.0:0.0:0.0:0.0:0.0:0:0.0.0.0:0.0:0.0:0.0.0.0.0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:0.6:0.0:0. ¢ [YAREI I T SST NI Joh Rrb 0:¢
PiecewiseFunction Answers for No.10387

x| -101] -9 -8 -7 -61] -5 -4 -3| -2 -1 O 1| 21 31 411 51| 61 71 81 9] 10|
Ans01 : f(x)| -8 | -7 -6 | -5 -4 | -3 | -2 | NA | 9 | 7 5 | 3] 17 -1 1 =31 =51 =71 9 | -11 | -13 | -15
Ans02 : f(x)| 14 | 13 | 12 | 11 | 10 | 9 | 8 | NA | 7 7 7 7 | NA | 5 | 7 9 | 11 | 13 | 15 | 17 | 19
Ans03
—1-x ; x<2
f(x):[ }
2x+1 ; x>=2
f(-2):1, sf(o):'la ’f(l):'za ,f(Z)IS, ’f(3):7
Ans04
2x-1 x< -2
flx)=| -5 ;-2 <x<=2
3-x x> 2
f(-3):'7> ’f('z):NA’ ’f(l):'s’ 5f(2):-5> ’f(4):-1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -3 | wundefined | infinity | infinity | infinity | Discontinuous |
-2 | 0 | 2 | 2 2 | Discontinuous |
2 | 4 | 2 | 4 | DNE | Discontinuous |
9 | 4 | 1] 1] 1 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

DG RF-Te (SR BN VI VNV ID:0:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.0.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.:9:0:0:0:9:0.0:0.9:0.9.0.9.9.9.9.9.0.0.0.0.9.0.9.0.:9:0.9:0.:9:0.9:0.9:0:9:0:9:0:0:0.:9:0.9.0.9:0.9.9.9.9.0.9.0.9.0.¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXKXXXXXKXKXX XXX KX XX KK KK XXX KKK XXX KKK XX XK KKK XXX KKK KKK KKK XXX KKK XX KXKKKXM6/1-6800501-00018XX

PiecewiseFunction Answers for No.10914

2 <x< 1

x| -10 | -9 -8 1 =7 -6 | -5 -3 -2 1 -1 0
Ans0l1 : f(x)| -12 | -11 | -10 | -9 -8 | =7 | 10 | 6 | 4
Ans02 : f(x)| -18 | =16 | -14 | -12 -10 | -8 | -4 -2 | NA | 2
Ans03
2x+1
f(x :[ !
()= _5_.
f(-3)=-5, ,f(-1)=N4, ,f(2)=-5,
Ans04
2-x
fix)={2x-2
0 K
f(-3)=1, ,f(-2)=N4, ,f(-1)=-4,
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1] 2 | 2 | 2 | Discontinuous |
1 4 | 1 1 1 | Discontinuous |
9 | 4 | 1| 1 1 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
12| 31 3| 3 3 | Continuous

X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXXXKXKXKXKXKXKXKXKXKX KX KK KK KK KKXKXKKXKXKXKKKKXKKX KKK KKK KK KK KK KK XK KKK KK KK KK KK KK KK KK KKK KKK KK KK KK KKK
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PiecewiseFunction Answers for No.10945

x| -101] -9 -8 -7 -6 -5 -4 1] -3 -2 -1] 0 | 1] 2 31 4 ] 5 6 | 7 8 | 9 1 10
Ans01 : f(x)| 17 | 15 | 13 | 11 | 9 | 7 5 3 1] 4 | 5 | 6 | 7 8 | 9| 10| 11 | 12 | 13 | 14 | 15
Ans02 : f(x)| -16 | -14 | =12 | =10 | -8 | -6 | -4 | -2 | 0 | 2] -5]1 -6 -61] -61] -6] -6] -6] -61] =-61] =-61] -6
Ans03

2-x ; x< -I
f(x):[Zx—S ; x>—1}
f(-2)=0, ,f(-1)=N4, ,f(2)=1, ,f(3)=3, ,f(4)=5

Ans04
x+3 R x< -3
flx) = 0 ;-3 <x<3
2x-3 x> 3
f(-4)=-1, ,f(-3)=N4, ,f(0)=0, ,f(3)=N4, ,f(4)=-11
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-6 | 2| 2 2 2 | Continuous
2 | 4 | 2 | 4 | DNE | Discontinuous |
7T 5 | 3 3 3 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXKXXKXXKXKXKXKXKXKXKXKXKXKKXKKXKK KK KKXKXKKXKKKX KX KX KKK KX KK KKK KK KK KK XK KKK KK KK KK KK KK KK KK KKK KK KK KK KK KK KKK



DR UERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.:0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0.0.0.0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:9.6:0.0:0. ¢ [YAREI I ST N1 [0 X 0D 0:¢
PiecewiseFunction Answers for No.10954

x| -10] -9 -8 -71 -61 -51 -4 =31 =21 -11 0 | 1 2 3 4 ] 5 | 6 | 7| 8 | 9 1 10
Ans0l1 : f(x)| -8 | =7 1| =61 =51 =4 | =31 =2 7 | 5 | 3| i1/ -1 -3| -5 =71 =9 -11 | -13 | =15 | =17 | -19
Ans02 : f(x)| -14 | -13 | -12 | =11 | =10 | -9 | -8 | -7 -6 NA| -5| =5 NA| -3 | =51 =71 =9 | -11 | =13 | -15 | -17 |
Ans03

_x+2 ; x<-I
f(x):[Zx—2 ; x>=-1}
f(-1)=-4, ,f(1)=0, ,f(2)=2, ,f(3)=4, ,f(4)=6

Ans04
-4 ; x < -1
fix)=|2x-2 ; -I<=x<1
—x+2 x> 1
f(-2)=-4, ,f(-1)=-4, ,f(1)=N4, ,f(2)=0, ,f(3)=-1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-7 | 2 2 | 2 | 2 | Continuous
-6 | 2| 2 | 2| 2 | Continuous
-5 | undefined | 1] 1] 1 | Discontinuous |
12| 31 3| 3 3 | Continuous

DG B=F=Te (SR N1 V) ID:9:9:9:9:9:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9.0.9.0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0:9:0.0:0.:9:0.9:0.9.0.9.9.9.0.0.0.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9:0.9:0.9.9.9.9.0.9.0.9.0.¢



R UERANCIVIVENED 020:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.0:0:0:0:0:0.0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0.0.0:0.0:0.6:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:9.6:0.0:0. (| YARI I ST J o N B 0:¢
PiecewiseFunction Answers for No.10966

x| -101] -9 -8 -7 -6] -5 -4 -3 -2 -1 O 1| 21 31 41 51 61 71 81 9 | 10 |
Ans01 : f(x)| 7 6 | 5 | 4 3 2 | 1] ol -1 -2 -3 | NA| 3 | 5 | 7 9 | 11 | 13 | 15 | 17 | 19
Ans02 : f(x)| -6 | -5 | -4 | -3 | -2 | -1 | 0 | 11 11 1] 1] 11 11 11 -5 | =7 | 9 | =11 | -13 | =15 | -17
Ans03
x+2 ; x<=-]
f(x):[ }
2x-2 ; x> -1
f(-3)=5, ,f(-1)=3, ,f(1)=0, ,f(2)=2, ,f(3)=4
Ans04
6 ;  x<=-3
f(x)=] 3+x ; -3 <x<=2
2x-1 x> 2
f(-4)=-6, ,f(-3)=-6, ,f(1)=-2, ,f(2)=-1, ,f(3)=-7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1] 2 | 2 | 2 | Discontinuous |
-11 | -2 | 11 1 1 | Discontinuous |
-4 | 2| 2 | 2| 2 | Continuous
1 4 | 1] 1 1 | Discontinuous |
5 | 2| 2 | 2| 2 | Continuous

DG RF-Te (SHE NIV N N HD:9:9:9:9:0:9:0:9:0:9:0:9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0.:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0:9:0.0:0.9:0.9.0.9.0.9.9.9.0.0:0.0.9.0.9.0.9:0.9.0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9.0.9:0.9.9.9.9.0.9.0.9:0.¢



R UERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.0:0:0:0:0:0.:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0.0.0:0.0:0.0:0.6:0.0:0.0:0.0:0.:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:9.6:0.0:0. ¢/ [YARI T T IST NI [0 232D 0:¢
PiecewiseFunction Answers for No.11154

x| -101] -9 -8 -7 -6] -5 -4 -3 -2 -1 O 1| 21 31 41 51 61 71 81 9 | 10 |
Ans01 : f(x)| -19 | -17 | =15 | =13 | =11 | -9 | -7 | -5 =3 | -1 | 1] 3] 5 | o - -2 =31 -4 =51 =-61 =7
Ans02 : f(x)| -25 | -23 | =21 | -19 | -17 | =15 | =13 | =11 | -9 | -9 | -9 | -9 -9 | 1] o} -1 -2 =31 -41 =51 -6
Ans03
2x+2 ; x<=2
f(x):[ }
x+3 ;x> 2
f(-4)=10, ,f(-3)=8, ,f(0)=2, ,f(2)=-2, ,f(3)=6
Ans04
-3 ; x< -3
flx)={2x+3 ,; -3 <x<1
3—-x x> 1
f(-3)=N4, ,f(-1)=1, ,f(1)=N4, ,f(2)=1, ,f(3)=0
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1] 2 | 2 | 2 | Discontinuous |
-9 | 3 3 3 3 | Continuous
-5 | undefined | 1] 1] 1 | Discontinuous |
-2 | 0 | 2 | 2 | 2 | Discontinuous |
2 | 4 | 2 | 4 | DNE | Discontinuous |

DG BF=Te (SRE V2N ID'9:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9.0.9.0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0.9:0.9:0.9:0.9:0.9.9.9.9.9.9.0:0.9.9.0.9.0.9:0.9.0.:9:0.9:0.9:0:9:0:9:0:0:0.:9:0.9.0.9.0.9.9.9.9.0.9.0.9.0.¢



R UERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.0:0:0:0:0:0:0.0:0:0.:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:9.6:0.0:0. ¢/ [YAEI I T ST NI JoI23cH 0:¢
PiecewiseFunction Answers for No.11191

x| -101] -9 -8 -7 -6] -5 -4 -3 -2 -1 O 1| 21 31 41 51 61 71 81 9 | 10 |
Ans01 : f(x)| 12 | 11 | 10 | 9 | 8 | 7 6 | 5 | 4 | 3 2 | 4 | 6 | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22
Ans02 : f(x)| -22 | =20 | -18 | =16 | =14 | =12 | -10 | -8 | -8 | -8 | -8 | 4 | 31 2 | 11 0 | -1 -2 | -3 | -4 | -5
Ans03
2x+1 ; x<=-]
f(x):[ }
3+x ; x> -1
f(-3)=7, ,f(-2)=5, ,f(-1)=3, ,f(2)=-1, ,f(4)=1
Ans04
2x+3 x< -3
flx)= 2 ; 3<=x<3
x=1 x> 3
f(-3)=2, ,f(-1)=2, ,f(1)=2, ,f(3)=N4, ,f(4)=3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1] 2 | 2 | 2 | Discontinuous |
-6 | 2| 2 | 2 2 | Continuous
2 | 4 | 2 | 4 | DNE | Discontinuous |
7T 5 | 3 3 3 | Discontinuous |
11 | 1] 1] 1] 1 | Continuous

DG RF=Te (SRE N V2ICH IID:9:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0.:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0.9:0.0:0.9:0.9.0.9.0.9.9.9.9.0.0.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9.0.9.0.9.9.9:9.0.9.0.9.0:¢



RERUERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.:0:0:0:0:0:0.:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0.0.0:0.0:0.6:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:9.6:0.0:0. ¢V [YARI T TSSO N I [ XD 0:¢
PiecewiseFunction Answers for No.11309

x| -101| -9 -8 -7 -6 =51 =41 =31 =21 -1/ 0 | 1 2 3 4 | 5 6 | 7] 8 | 9 | 10
Ans01 : f(x)| -16 | -14 | -12 | -10 | -8 | -6 | -4 | -2 | 0 | 6 | 5 | 4 3] 2| 1] o} -1 -2 -31 -41] -5
Ans02 : f(x)| -11 | -10 | -9 | -8 | =7 | -6 | -5 | 3| 11 -1 | -3 | -5 | =7 =7 =7 =71 =71 =71 =71 -7 1 =7
Ans03
—1-x ; x<1
f(x):[ }
2x+3 ; x> 1
f(-4)=3, ,f(-2)=1, ,f(-1)=0, ,f(0)=-1, ,f(1)=NA
Ans04
x+2 x< -2
fix)=| 4 ; 2<=x<3
2x—-1 x> 3
f(-4)=6, ,f(-3)=5,f(-2)=4, ,f(2)=4, ,f(3)=N4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
8 | 4 | 4 | 2 | DNE | Discontinuous |
9 | 4 | 1 1 1 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
11 | 1] 1] 1] 1 | Continuous

DG RF=Te (SHE N V2X Y ID'0:9:9:9:0:9:0.9:0:9:0.9:0:9:0:9:0:9:9:9:0.9.9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0.:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0:9:0:0:0:9:0.9:0.9.0.9.9.9.0.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:9:0:0:0:9:0.9.0.9.0.9.9.9.9.0.9.0.9.0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXKXXXXXXKXKKXX XXX KX XX KK KK XXX XXX XXX KKK XXX KKK XXX KKK XXX KKK XXX KKK KX XKXKKKXM6/1-6800501-00025XX

PiecewiseFunction Answers for No.12483

x | =10 | -9 | -8 | =7 -6 | -5 -4 -3 ! -2 1 -11 0 T 210 31 41 5 61 71 8/ 9 1 10 |
Ans01 : f(x)| -19 | -17 | -15 | -13 =111 -9 =7 -5 1 -3 5 | 4 3] 2| 1] ol -1 -2 1 =31 -4 -51] -6/
Ans02 : f(x)| -19 | -17 | =15 | -13 -11 | -9 | =7 -5 | -5 | -5 | -5 -5 | 11 0 | -1 | -2 | -3 | -4 | -5 | -6 | =7 |
Ans03
2x+2 x< I
f(x):[ }
-2 —-x x> 1
f(-l)io, 3f(1):NA’ ’f(2)2-4’ ’f(3):-5> >f(4):-6
Ans04
-2 ; x < -1
fix)=|-3-x , -I<=x<=2
2x-3 x> 2
f(-3)=-2, ,f(-1)=-2, ,f(2)=-5 ,f(3)=3, ,f(4)=5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-6 | 2| 2 2 2 | Continuous
-2 | 0 | 2| 2 | 2 | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
3 5 | 3 3| 3 | Discontinuous |

X [Page =

[VJ0123S) 1D:9:9:9:9:0:9:0:9:0:9:0:9:9:9.0.9.9.9:9.9.9.9:9.9.9.0.9.0.9:0:9:0:9:0.9:0.9:0:9:0:9:0:9:0:9:0.9:9.9:9.9.9.9.0.9.9.9.9.0.9.0.9.0.9.0.9.0.9:0.9:0:9:0:9:0:9:0:9:0.9:0.:0:9.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9.0.:9.0.9:0:9:0:9:0.9:0:9:0.9:0:0:0.9:0.9.9.9.0.:0.9.9:9.0.9.0.9.0¢



QR UERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.0:0:0:0:0:0.:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:9.6:0.0:0. ¢V [YARI I TSSO N L Jo Xy 0:¢
PiecewiseFunction Answers for No.12557

x| -101] -9 -8 -7 -6] -5 -4 -3 -2 -1 O 1| 21 31 41 51 61 71 81 9 | 10 |
Ans01 : f(x)| -19 | -17 | =15 | =13 | =11 | -9 | -7 | -5 =3 | -1 | 1| 3| -6 =71 -8 =9 ] -10 | -11 | -12 | -13 | -14
Ans02 : f(x)| 7 7 7 71 71 71 7 7 5 | 3 1] -1 | NA | 8 | 9 | 10 | 11 | 12 | 13 | 14 | 15
Ans03
x+3 ;ox< 2
f(x):[ }
2x-3 ; x> 2
f(-1)=2, ,f(1)=4, ,f(2)=N4, ,f(3)=-9, ,f(4)=-11
Ans04
4 x<=-1
f(x)=| 3+x ; -1 <x<=2
2x+2 x> 2
f(-2)=-4, ,f(-1)=-4, ,f(2)=-1, ,f(3)=-4, ,f(4)=-6
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3| 3| 3| 3 | Continuous
-5 | undefined | 1] 1] 1 | Discontinuous |
-4 | 2| 2 | 2 | 2 | Continuous
2 4 | 2 | 4 | DNE | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

DG BF-Te (SR N2 Y HD:9:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0.9:0.9:0.9:0.9.0.9.9.9.9.9.9.0.0.0.9.0.9.0.9:0.9:0.:9:0.9:0.:9:0:9:0:9:0:0:0.9:0.9:0.9:0.9.9.9.9.0.9.0.9.0:¢



R UERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.:0.:0:0.:0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0.0.0:0.0:0.6:0.6:0.0:0.0:0.0:0.:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:9.6:0.0:0. ¢/ [YARI I T ST [ Arb ¢:¢
PiecewiseFunction Answers for No.12637

x| -101] -9 -8 -7 -6 -5 -4 1] -3 -2 -1] 0 | 1] 2 31 4 ] 5 6 | 7 8 | 9 1 10
AnsO1l : f(x)| 23 | 21| 19| 17| 15| 13 | 11 | 9 | NA | 1| 2 | 3 4 | 5 | 6 | 7 8 | S | 10 | 11 | 12
Ans02 : f(x)| -2 | -2 | -2 | =21 =2 | =21 =21 =21 =11 0 | 1] 2 | 31 -4 -6 -8 -10 1| -12 | -14 | -16 | -18
Ans03

x+1 ;ox< 2
f(x):[—Zx—3 ;x> 2}
f(-4)=-3, ,f(-3)=-2, ,f-2)=-1, ,f(2)=N4, ,f(4)=-11

Ans04
-5 ; x< -2
flx)=|2x-1 ,; -2<=x<=3
2-x x> 3
f(-2)=-5, ,f(-1)=-3, ,f(0)=-1, ,f(1)=1, ,f(3)=5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3| 3| 3| 3 | Continuous
-2 | 0 | 2 | 2 2 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
9 | 4 | 1] 1] 1 | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

DG RF=Te (SHE NIV N ID'0:9:0:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9.9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0:9:0.0:0.9:0.9:0.9.0.9.9.9.0.0.0.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:9:0:0:0.:9:0.9.0.9.0.9.9.9.9.0.9.0.9.0:¢



R UERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.:0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0.0.0.0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:9.6:0.0:0. (U [YARI T TSSO L [0 X ) 0:¢
PiecewiseFunction Answers for No.12689

x| -101] -9 -8 -7 -61] -5 -4 -3| -2 -1 O 1| 21 31 411 51| 61 71 81 9] 10|
AnsO01l : f(x)| 15 | 13 | 11 | 9 | 7 5 | 3 1/ -1 -3 =51 =71 =9 ] NA| 6 | 7 8 | 9 | 10 | 11 | 12
Ans02 : f(x)| 17 | 15 | 13 | 11 | 9 | 71 5 | 3| 11 1] 1] 1] 1 ] NA | 2 | 3| 4 | 5| 6 | 7 8
Ans03
2-x ; x<-2
f(x):[ }
2x+3 ; x>=-2
f(-4)=2, ,f(-2)=-1, ,f(2)=7, ,f(3)=9, ,f(4)=11
Ans04
2x+3 x< -3
flx) = 9 ; 3<=x<=1
x—1 R x> 1
f(-3)=9, ,f(-2)=9, ,f(1)=9, ,f(2)=1, ,f(3)=2
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1] 2 | 2 | 2 | Discontinuous |
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
1 4 | 1| 1 1 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
11 | 1] 1] 1] 1 | Continuous

DG BF=Te (SRE V)22 ) HD:0:9:9:9:0:9:0:9:0:9:0:9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9.0.9.0.9:0.9:0:9:0:9:0:9:0:9:0.:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0:9:0.9:0.9:0.9:0.9.9.9.9.9.0.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:0:0:0:0.9:0.9:0.0.0.9.9.9:9.0.9.0.:9.0:¢



R QRUERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0:0:0.:0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.0:0.0:0.:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.6:0.6:0.6:9.6:0.0:0. ¢V [YARI I ST NI Jo XD ¢:¢
PiecewiseFunction Answers for No.13349

x| -101] -9 -8 -7 -6] -5 -4 -3 -2 -1 O 1| 21 31 41 51 61 71 8/ 9 | 10 |
AnsO1l : f(x)| -17 | -15 | -13 | -1 | -9 | -7 -5| -3| -2 | -3| -4 -5 =-61 =71 =81 =9 -10 | -11 | =12 | =13 | -14 |
Ans02 : f(x)| -18 | -16 | =14 | -12 | =10 | -8 | -6 | -4 | -2 | NA | -3 | -3 | NA | -4 | -5 | -6 | =7 | -8 | -9 | =10 | -11 |
Ans03
x+1 ;ox< 1
f(x):[ }
2x+1 ; x> 1
f(-4)=-3, ,f(-3)=-2, ,f(-2)=-1, ,f(1)=N4, ,f(3)=-5
Ans04
1 R x< -2
fix)=|2x-3 ; -2<=x<=3
x+2 R x> 3
f(-3)=1, ,f(-2)=1, .f(-1)=-1, ,f(0)=-3, ,f(3)=-9
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3| 3| 3| 3 | Continuous
-6 | 2| 2 | 2 2 | Continuous
-4 | 2| 2 | 2| 2 | Continuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
3 5 | 3| 3| 3 | Discontinuous |

X [Page =

(V013N 1D:9:9:9:9:0:9:0:9:0:9:0:9:9:9:0.9.9.9:9.9.0.:9:9.9.9.0.9.0.9:0:9:0:9:0.9:0.9:0:9:0:9:0:9:0:9:0:9:9.9:9.9.9.9.0.9.9.0.9.0.9.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0:9:0:9:0.9:0.:9:9.9:0.9.9.9.0.9.0.9.9.0.0.0.9.0.9:0.9.0:9.0.9:0:9:0:9:0.9:0:9:0.9:0:0:0.9:0.9.9.9.0.:0.9.9:9.0.0.0.9.0:¢



R ERUERANCIVIVENED 0:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0:0.0.0.0:0.0:0.0:0.0.0.0.0.0:0.6:0.6:0.0:0.0:0.0:0:0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.0:9.6:0.0:0. ¢/ [YAEI I ST NI Jo1c] 0D 0:¢
PiecewiseFunction Answers for No.13519

x| -101] -9 -8 -7 -61] -5 -4 -3| -2 -1 O 1| 21 31 411 51| 61 71 81 9] 10|
AnsO1l : f(x)| -7 1| -6 1| -5 -4 1 -3 | -2 -1/ 0 | 1] 2| 3 | 4 | 5 | 6 | -11 | -13 | =15 | =17 | -19 | -21 | -23
Ans02 : f(x)| -17 | -15 | -13 | =11 | -9 | =71 =51 =3 | NA | 3 3 3] 3] 2 1| o} -1 =21 =31 -41 =5
Ans03
2x+2 ; x<=-2
f(x):[ }
2-x ; x> -2
f(-4)=-6, ,f(-3)=-4, ,f(-2)=-2, ,f(0)=-2, ,f(3)=-5
Ans04
x+2 x<=-2
flx)=|2x+1 ; -2 <x<=1
3 N x> 1
f(-3)=5, ,f(-2)=4, ,f(0)=1, ,f(1)=3, ,f(3)=3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-6 | 2| 2 | 2 2 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
9 | 4 | 1] 1] 1 | Discontinuous |
11 | 1] 1] 1] 1 | Continuous

DG R=F-Te (SHE VISV ID:9:9:9:9:9:9:0:9:0:9:0:9:0:9:0:9:0:9:0:9:0.9:9.9.0.9.9.9:9.9.9.0.9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0.:9:0.:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0.9:0.9:0:9:0.9.0.9.9.9.9.9.9.0.09.0.9.0.9.0.9:0.9:0.:9:0.9:0.9:0:9:0:0:0:0:0.9:0.9.0.0:0.9.9.9.9.0.9.0.9.0:¢



R UERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.:0.:0:0.:0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:9.6:0.0:0. ¢ [YARI I T ST Jo I i D 0:¢
PiecewiseFunction Answers for No.14276

x| -101] -9 -8 -7 -6 -5 -4 1] -3 -2 -1] 0 | 1] 2 31 4 ] 5 6 | 7 8 | 9 1 10
AnsO1l : f(x)| 21 | 19| 17 | 15| 13 | 11 | 9 | 7 5 | 3 1| 0 | 1] 2 3 4 | 5 | 6 | 7 8 | 9
Ans02 : f(x)| -15 | -13 | =11 | -9 | -7 | =5 | =3 | -1 | 11 -4 -5 NAJ|] -6]|] -6 -6 -6 -6 -6 -6 -6/ -6
Ans03

B3+x ; x<=-1
f(x):[—Zx—Z ; x>—1}
f(-4)=-7, ,f(-3)=-6, ,f(-1)=-4, ,f0)=-2, ,f(1)=-4

Ans04
2x+2 x< -1
flx) = 4 ;-1 <x<2
x+3 R x> 2
f(-4)=10, ,f(-2)=6, ,f(-1)=N4, ,f(0)=4, ,f(2)=NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3| 3| 3| 3 | Continuous
-6 | 2| 2 2 2 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
1 4 | 1] 1 1 | Discontinuous |
2 | 4 | 2 | 4 | DNE | Discontinuous |

DG R=F-Te (SHE BN JVICH N IID:9:9:9:9:0:9:0.9:0:9:0.9:0:9:0:9:0:9:0:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0:9:0.:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0.9:0.0:0:9:0.9:0.9.0.9.9.9.0.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:0:0:0:0.9:0.9.0.0:0.9.9.9.9.0.9.0.9.0:¢



R RUERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.:0:0:0.:0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:9.6:0.0:0. ¢/ [YAEI T SSTON L J0Ic 125 0:¢
PiecewiseFunction Answers for No.14380

x| -101] -9 -8 -7 -6] -5 -4 -3 -2 -1 O 1| 21 31 41 51 61 71 8/ 9 | 10 |
AnsO1l : f(x)| -21 | -19 | -17 | =15 | =13 | =11 | =9 | =7 | 7 6 | 5 | 4 3 2 1| o} -1 -2 -31 -41] -5
Ans02 : f(x)| 3 3 3] 3 3 3 | 3 3 3 3 ] 1] -11] -3 ] NA | 3 4 | 5 | 6 | 7 8 | 9
Ans03
x+2 ;ox< -1
f(x):[ }
2x-1 ; x> -1
f(-1)=N4, ,f(0)=-1, ,f(1)=-3, ,f(2)=-5, ,f(3)=-7
Ans04
x+2 R x< -3
flx) = -7 ; 3<=x<=2
2x-3 x> 2
f(-4)=-2, ,f(-3)=-7, ,f(-1)=-7, ,f(2)=-7, ,f(4)=-11
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3| 3| 3| 3 | Continuous
-7 | 2 2 | 2 | 2 | Continuous
-5 | undefined | 1] 1] 1 | Discontinuous |
5 | 2| 2 | 2 2 | Continuous
T 5 | 3| 3| 3 | Discontinuous |

DG R=F-Te (SR VSN ND'9:9:9:9:0:9:0.9:0:9:0.9:0:9:0:9:0:9:0:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0.:9:0:9:0.9:0.9.9.9.0.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0:9:0.9:0:9:0.9.0.9.9.9.9.9.0.0.9.0.9.0.9.0.9:0.9.0.:9:0.9:0.9:0:9:0:0:0:0:0.9:0.9.0.9:0.9.9.9:9.0.9.0.9:0:¢



DGR UERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.:0.:0:0.:0:0:0:0:0:0:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:9.6:0.0:0. ¢ [YAEI T ST J0Ic 1) 0:¢
PiecewiseFunction Answers for No.14393

x| -101] -9 -8 -7 -6] -5 -4 -3 -2 -1 O 1| 21 31 41 51 61 71 8/ 9 | 10 |
Ans01 : f(x)| 6 | 5 | 4 | 3] 2 | 1] ol -1 1] -2 1| NA | -4 ] -2 0 | 2 4 | 6 | 8 | 10 | 12 | 14 | 16
Ans02 : f(x)| 18 | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 | 3 4 | 5 | NA | 6 | 6 | 6 | 6 | 6 | 6 | 6 | 6
Ans03
2x+2 ; x< 2
f(x):[ }
3—x ; x> 2
f(-1)=0, ,f(1)=4, ,f(2)=N4, ,f(3)=0, ,f(4)=-1
Ans04
x+3 R x< -1
flx) = -3 ; -l <=x<=1
2x-1 x> 1
f-4)=-1, ,f(-1)=-3, ,f(1)=-3, ,f(2)=-5 ,f(3)=-7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1] 2 | 2 | 2 | Discontinuous |
-10 | 1] 2 | 2 | 2 | Discontinuous |
3 5 | 3| 3| 3 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
9 | 4 | 1 1 1 | Discontinuous |

DG RF-Te (SR N VCICH IID:9:9:9:9:0:9:0.9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.9.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.0.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0:9:0.9:0:9:0.9:0.9.9.9.9.9.0.0.9.0.9.0.9.0.9:0.9:0.:9:0.9:0.9:0:9:0:0:0:0:0.9:0.9.0.9:0.9.9.9:9.0.9.0.9.0:¢
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